=

51.

52.

23.

CHEMISTRY
Acid catalysed hydration of alkenes
except ethene leads to the formation of
A) ‘Secondary or tertiary alcohol
B) Primary and secondary alcohol
C) Secondary aicohol
D) Tertiary aicohol
Among the following which is least
acidic ?
A} Phenol
B) O-cresol.
C) P-nitrophenol
D) P-chlorophenol
An ether is more volatile than an

alcohol having same molecular
formula because

A) Dipolar character of ether
B) Alcohols having resonance structure

- C) Intermolecular hydrogen bonding in

54,

ethers

D) Intermolecuiar hydrogen bonding in
alcohols

An organic compound A(C4HCl) on
reaction with Na/diethyl ether gives a
hydrocarbon which on monochlorination
gives only one chloro derivative then,
Alis

A) Isobuty! chloride

B) Secondary butyl chloride

C) Tertiary butyl chloride

D) n-butyl chloride

51.

52.

53.

54.

Eage No. 1 _Bj

3%@@@%%%@@
EREIsC 1 Pl F ST 2

A) Tedas o1 g el

B) wiufies 1 o tepele
C) fadims tehem
D) gdtas TehiEie

frforfen & @ wod wn onefr S ar 2 ?
A) e

B) -t

C) fu-migd) fiv

D) R-siidTa

T & A g tewee @ SR
i 18R @ =if

A) R =1 fygeha =ey

B) Yew1ee ot v ween

C) SR ¥ i STl grEgem srgey
D) Ueehieiet iR aviierh gTsgiem iy

T FEE ME AC,H,Cl) wifeam
SRISUTSET S F WY APfRT o
TISSIHR SaT 8 St WA AT R et
T R g s R A A 3
A) ITTEE! ST FelUsS

B) T sqerfer sormse

C) T sgerder weinse

D) w-sgza Fiiss
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55.

56.

57.

An oxygen containing organic
compound upon oxidation forms a
carboxylic acid as the only organic
product with its molecular mass higher
by 14 units. The organic compound is

A) A ketone

B) An aldehyde

C} A primary alcoho!
D) A secondary alcohol

Anisole can be prepared by the action
of methyl iodide on sodium phenate.
The reaction is calied

A) Wurtz reaction

B) Williamson's reaction
C) Fittig's reaction

D) Etard's reaction

Consider the following reaction :

. CHsOH+H,S0, — Product. Among

58.

the following, which one cannot be
formed as a product under any
conditions ?

A) Ethylene

B) Ethyl hydrogen suiphate

C) Acsetylene

D) Diethyi ether

From amongst the following alcohols

the one that would react fastest with
conc. HCI and anhydrous ZnCl,, is

A} 2-methyl-propan-2-ol
B) 2-Butanol

C) 1-Butanol

D) 2-methyl propanol

55.

56.

57.

58.

Eage No. 1@

AT TR SIS Fraifores e
I A Feamm & 14 3078 ST 7
T TS ShTel ek 3TTE 3 ¥ 1 i o
RS =T ] | o wEP A 2

A) & 12w

B) s Ufeesse

C) & MUl teanigie
D) @ fetfios Yepieren

wifeam fFte © duse ardense =
AR & Wferet dam R s g 2 |
wANFTR __ wmemd
A) =5 afufsran

B) ferferemer atfifmen

C) fferq sfirfaan

D) wesy fufgn

frfefe sifimatt # am ¥ haw
C2HsOH + H,S0, — 3w | Fefifes
H @ T foml oft Ry & o seare 3 =y
T ¢ s s T £ 7

A) tefieim

B) $ume TREe aede

C) ufafestim

D) Seduse S .

Pt deerer § @ o el 30 @ i
HC! 3R fister ZnCl, @ sfrfe s
Blagd

A) 2-UTse -7 - 231
B) 2-sggTm
C) 1-=géqia
D) 2-teurge Wi
3EE
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59. Hydrolysis of aromatic amide gives 59. TAfew Wumee i e ik ‘
A) Acids | Gl ;
B) Amines A) Uhey
C) Alcohols B) Tmig
D) None of the above C) TR -
D) T & =13 off e
60. Methyl phenyl ether can be obtained by
reacting 60. =1 fafsean § e e
A) Phenolate ions and methyl iodide PRU ST AR |
B) Bromobenzene with methoxide ions A) Ticie s afit e smreeTss
C) Methanol and phenol B) HeieTs ST %W SIS
D) Bromobenzene and methyl iodide C) HeHtet 3R it f
D) st 3t Hermser aERs
61. Which of the following is correct :
statement ? 61. FHA R AT TH G FIT & 7
A) Acetophenone is an ether A) TR T $oR ]
B) Diastase is an enzyme B) SRS T amsw @
C) Cycloheptane is aromatic C) wreileRd T Wi i &
compound D) oW % o
D) All of the above 62. Freffes § 4 = a1 e 2 7
62. Which of the following is incorrect ? A) FeCly 1 I5ahT HHic T Ia1 el %
A) FeCly is used to detect phenols o o s % |
B) Fehling’s solution is used to detect B). SR 1= 1 39T T T
glucose _ T % oI SR S |
C) Tollen’s reagent used to detect C) et Sifirepris =1 I S 1
unsaturation 9ol ST % forg frar s 2
D) NaHSOj, used to detect carbonyl D) NaHSOg F1 3wt et 2 w1
compound AT ST o T feRem ST R
A @ge No. 20 J 3EE
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'63. Which one of the following is not a 63. il # & 1 a1 Haw age T2 7 |
condensation polymer ? _ A) 3t {
A) Dacron B) fat
B) Neoprc-.zne | c) &
C) Melamine D) fRret
D) Giyptal

64. Fffaa A e P ar s e 2 7

64. Which of the following statements is

false ? A) TTEpfdeR WX & ITeRl ot TS
A) "Repeat unit of natural rubber is R
isoprene - B) T 7R O(ei ] i SRTRat
B) Both starch and cellulose are made YAEAE |
up of glucose units C) Fm T % Igea & TR |
C) Artificial sifk is derived from cellulose D) 94eiA-6, 6 TF THEW E |
D) Nylon-6, 6 is an elastomer
65. SeheTee S W AffFT g s TS R ?

65. Bakelite is formed by the regction of A) S sk wiREEe : '|
A) .Phenol.gnd formaldehyde B) ST sl afRe |
B) Fo.rn'1alde.hyde and aniline C) Weefiss Ay 2 ezt e :1
C) Adipic acid and ethylene glycol D) Wik e ok STt et J
D} Phthalic acid and ethylene glycol :

66. Which of the following is fully fluorinated €6. mﬂ;i?: R W & e
polymer ? ¢ - :
A) Neoprene _ A) ﬁaﬂn‘h
B) Tefion - B)dw
C) Thiokol : C) Rriteriet
D) PVC D) dt. 4.4,

67. Which of the foliowing is a polyamide ? |  67. = & % o1 w& wiRse 2 7 _
A) Teflon A) 5 '
B) Nylon-6, 6 B) IR-6, 6 !’
C) Terylene C) =i
D) Bakelite D) aeie

A [ Page No. 21 ] 3EE
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8.

69.

Plexiglass is a commercial name of
A) Glyptal '

B) Polymethyl methacrylate

C) Polystyrene

D) Polyacrylonitrile

Among cellulose, poly vinyl chloride
(PVC), nylon and natural rubber, the

polymer in which intermolecular forces
of attraction are weakest is

A) Nylon

'B) PVC

70.

71.

72.

C) Natural rubber
D) Cellulose

The monomer used to produce orlon is
A) CH, = CHF

B) CH, = CCl,

C) CH, = CHCI

D)} CH, = CHCN

Glass is

A} Polymeric mixture

B} Gel

C) Super cooled liquid

D} Microcrystalline solid

Among the following substituted
silanes the one which will give rise to

cross linked silicone polymer on
hydrolysis is

A) RsSiCl
B) R,SiCl,
C) R,Si

D) RSiCl,

68.

69.

70.

71.

72.

RfFTIE 1 U sgEaiie I

AN BN 1

A) fereia

B) uifeifmsel fremrrade

C) uitafeefa

D) wifenifsreiimserse

g, dicrarsHe sanss (),
TEE 3R WHfes TR 998 e
AR TuTTreh TRy Fe GifeT T
AgiaE R

A) TIAH

B) ti.=f.=fh.

C) Srpfee Tre

D) dge@

@A =1 Fmior w3 & fa
T <A1 ST foran st 1
A) CH, = CHF

B) CH, = CCl,

C) CH, = CHCI

D) CH, = CHCN

wmE_ R

A) Fgerehia fisor
B) S

C) s a1 ga
D) ATgEhitshfeeET 39
frrfrie et Rema 3 &

BERIfTaY R ig- T frg o fafeeia
gifer = famfor Far &

A) R,SiCl
B) RySiCl,
C) RS

D) RSiCl,

( Page No..22 ]
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73.

74,

The polydispersity index of the polymer
is always

A) 1
B) <1
C)2
D)1or>1

Which one of the following statement is
incorrect about enzyme catalysis ?

A) Enzymes are mostly proteinous in
nattire

B) Enzymes are least reactive at
optimum temperature

C) Enzymes are denaturated by
ultraviolet rays and at high
temperature

D} Enzyme action is specific

75.

Which one of the following is an
example for homogenous catalysis ?

A) Manufacture of sulphuric acid by
Contact process

i B) Manufacture of ammonia by Haber's

76.

process

C) Hydrolysis of sucrose in presence of
dilute hydrochloric acid

D) Hydrogenation of oil

Among the eléctrolytes Na,SO,,

CaCl,, Aly(SO,); and NH,Cl, the
most effective coagulating agent for
Sb,S, sol is

A) Na,SO,
B) CaCl,

C) Alx(SO,);
D) NH,CI

73.

74.

75.

76.

[ Page'Na: 23]

EENEEARI IS EEE i a ) S
AR |

A) 1

B} <1

C)2

D) 131> 1
FfaRaa wum 3 & ) a demgw sEw
FIN AT g ?

A) TSTIRH SRR TR SHf %
TAE |

B) F5H QTN S USITEH < TR
T g |

C) TS SfeeEmaere fol iR 3== amgam
W A S R
D) tuSTEH o Rt 9 @ |

o & & < a3k i seRor R ?
A) T TSR ERT TR s =1 fimin
B) &R % wfha g s =1 Fmfor

C) aaﬁf‘aams@a%ﬁﬁmﬁﬁ%ﬁm@rﬁr

Wm Na,SO,, CaClz » Al(SO, )3
3 NH,Cl & Sb,S, e ¥ fyu g=d
EREIS Zc ) SO 1

A) Na,SO,

B) CaCl,

C) Aly(SO,),

D) NH,CI
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77. Which of the following statements is
incorrect regarding physiosorption ?

A) Under high pressure it results into
multimolecular layer on adsorbent
surface

B) More easily liquefiable gases are
adsorbed readily

C) Enthalpy of adsbrption (AHadsoﬂ;)ﬁon)
is low and positive

D) It occurs because of van der Walls
forces

78. Gold numbers of protective colloids
A,B,CandD are 0.50, 0.01,0.10and
0.005 respectively. The correct order
of their protective powers is

A) A<C<B<D
B) B<D<A<C
C) D<A<C<B
D) C<B<D<A
79. When a sulphur sol is evaporated,

sulphur is obtained. On mixing with
water, sulphur sol is not formed. The

77. e e 2 A i e

FearATEae 7

A) w=a Tam i Sty @A W
aga:rwﬁﬁmﬁqﬁmﬁaé‘m% l

B) iy arar & g el w1 STt
I S |

C) arftrsie < R (A Hagsorption)
afit geTene ® )

D)aﬁmug@mﬁat—ﬁaﬁmﬁﬁm%l

78. TUETEHS HIEEed A, B, C iR D AW
£ @@ W 0.50, 0.01, 0.10 AR
0.006 & | 3R e wiRE 1 HEl A

3

A)A<C<B<D

B)B<D<A<C
C) D<A<C<B

D) C<B<D<A

79. aaqaqma‘faaﬁaﬁmm%,a’r
FEHL YT B B | T T e W

sol is o T e o & | Wit 21
A) Reversible A) gt
B) Hydrophobic B) #ESIBIfereh
'c:) Hydrophilic C) TRgIfhf
D) Lyophilic D) faeiifsim
A (Page No. 2 ) 3EE
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80. The hydrocarbon which can react with 80, S TRSHER z@ it § |ifeEH H
sodium in liquid ammonia is ary MR S EEa § 98 gl
A) Styrene A) it
B) Acetylene 2; Qffeeta
C) Propyl
) Propylene D) ﬁ__[ﬁ'"ﬁ“'
D) Pentane
% Sisfi % STl
81. The compound formed as a result of Sk ;Mn04 & TR Ao w2 |
oxidation of ethyl benzene by KMnQ, is o Ea@_‘ —
A) Acetophenone )T I
) A B) S
B) Benzophenone C) dsiew j
C) Benzoic acid D) e
D) Benzaldehyde v o
_ 82. AfRher deTeey SAfohel HI AR
82. Alkyl halides react with dialkyl copper ¥ w1y oy A e |
reagents to give A) e !
A) Alkanes B) ehrs |
B) Alkenes : C) UeFE,
C) Alkynes D) ¥fere FT SeTEeq,
D) Alkyl copper halides g3, AR SRR a; - ﬁ'{r‘— <ERER
83. Some meta-directing substituents in wiftreenet =t o 7 ® I?Eﬁ g W
aromatic substitution are given. Which geg waTer frshiareas § ¢
one is most deactivating ? A) -505H
BlisCh C) —~COOH
C) -COOH D) -NO,
D) -NO, ;
84. w& 2-=gg1sA i AR Pd-BaSO, %
84. When 2-butyne is treated with |1 B 2, A I T TS
Pd-BaSO,; the product formed will be A |
- A) 1-butene A) 1_@@;
B) trans-2-butene B) ZM-2-s¢H
C) cis-2-butene C) fg-2-sqdm
D) 2-hydroxy butane : D) 2-ErEgrlt sqe
A [Pag_e No.'r25] 3EE
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85.

86.

87.

88.

Which of the following has highest
knocking effect in IC engine ?

A) Branched chain olefins

B) Olefins

C) Aromatic hydrocarbons

D) Straight chain olefins

Which of the following acids does not
exhibit optical isomerism ?

A) Tartaric acid

B) Lactic acid

C) Maleic acid

D) o-Amino acids

Which of the following reactions will not

result in the formation of carbon-carbon
bond ?

A) Reimer-Tiemann reaction
B) Friedel Crafts acylation
C) Wurtz reaction

D) Cannizzaro reaction

The standard emf of galvanic cell
involving 3 moles of electrons in its
redox reaction is 0.59 V. The
equilibrium constant for the reaction of
the cellis

A) 1025
B) 1020
C) 1013
D) 1030

85.

86.

87.

fie 1 2 Frw = e o 7 wel U
i 9 ST § 7

A) TEE SEE AR,

B) A&,

C) Whifeeh TR

D) S Eel B,

frfafaa § & 19 a1 fte Hifesd
arsamien yeiia 781 ot ¢

A) TRENE I

B) g

C) "igH el

D) o-Ufimt s

11 § & B o Fe-FET e A
gfenfir 7 St ?

A) Tr-3dmE arffsean

B) ¥edt hueH YW

C) alsi il

D) s=iwmdl sAffsean

88. ST APl § 3 Tieq SeiEd AT

Aeafe Od 1 T emf 0.59 VE | FRT i
atfafern & e ana S i

A) 1025

B) 10%0
C) 101°
D) 10%0

[ Page No. 26J
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89.

90.

9.

The potential of a hydrogen electrode
atpH=10Qis

A) 0.59V

B) 0.00V

C) -0.59V

D) -0.059 V

Which of the following electrolytic

solutions has the least specific
conductance ?

A) 0.002' N

B) 0:1 N

C) 0:2N

D) 2N

Dissolving 120 g of urea in 1000 g of water

gave a solution of density 1.15g/mL. The
molarity of the solution is

A) 1.78M
B) 2M
C) 2.05M

D) 222M

92.

A 5.2 molal aqueous solution of
methyl alcohol, CH,OH is supplied.
What is the mole fraction of methyl
alcohol in the solution ?

A) 0.05
B) 0.10
C) 0.18
D). 0:086

89.

80.

91.

92,

(Pagsho;27)

pH = 10 T ETEZIM FEaIS 1 fae
ARy

A) 0.59 V

B) 0.00V

C) —-0.59 V

D) -0.059 V
s g iesies feerl & & w=d -
w9 fafire yaesa Fra s e ?

A) 0.002N

B) 0.1N

C) 02N

D) 2N

1000 7 R & 120 T i B AT

T freme &1 v 1.15 g/mL ST S
? | Fererem <Y Hiewan =

A) 1.78M
B) 2M
C) 2.05 M

D) 222 M

Rgred Yewield & 5.2 Hied e
CH,OH = sngfd Hrmeh R 159 # Aumsw
Veierd & A $FE = e 7

A) 0.05

B) 0.10

C) 0.18

D) 0.086
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93, 58.5 gmof:NaCl and 180 gm of glucose 93. 58.5 gm NaCl 3 180 gm & &l |
were separately dissolved in 1000 ml 1000 mi TT=1 ¥ geres &9 et faan e
of water. Identify the correct statement | 2 | qionfiv Rere & F9EAE & 3RA
regarding the etevation of boiling point % diad F ad o 1 e

(b.p.) of the resulting solutions. ' .
A) NaCl solution will show higher A) NaCl foera Fauais &1 3= I~

elevation of b.p. < @ .
B) Glucose solution wili show higher B) "IN foremer FOIER 1 S= I
glevation of b.p. a7t B
C) Both the solutions will show equal C) g1 feretan FaUAT &1 §AH S+ '
elevation of b.p. G TR
D) The b.p. elevation will be shown D) vt et g Fee i S e
by neither of the sclutions EEEARS G
94. Reaction of acetone with HCN gives 94. HCN & are YR st sty 3
A) Substitution compound . YT B R
B) Addition compound A) yfreeng AEeR
C) Elimination product B) T AR
D) None of the above : C) foeliu e 1
95. Identify the correct statement. D) = @ g +fi 7w
A) Reaction mechanisms are studied 05. H& FU ) qEaH Hi |
using isotopic labelling A) JGAR e oy SR G A
B) Isolation of reactive intermediates 5 =T a7EAE fora SaT R |
is a method to establish reaction
mechanism . B) SIRERUCEIE EF@%E g qel‘ag{;; |
Frfirfsran & w4t Th |

C). Both A) and B) are correct

D) Neither A) nor B) is correct C) A) 3R B) FHfi &€ § 1

D) A1t A) 3l A € B) W& 2

06. ldentify the monomers from the

following. 96. Pr=rfifaa & 4 AiHE i TEEH |

A} Acetic acid and benzoic acid A) s tie it seEs e

B) Adipic acid and ethylene glyco! B) Ui e ofit gumseli =R |

C) Ethylene and ethanol : C) sumseia 3iR geATe ;

D) Phthalic acid and acetic acid D) Wt e oik Wl Urs 1
A [Page‘ No. 28 ] 3EE
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97.

Hydrolysis of cyanohydrin derivative
produces

A) Carboxylic acids
B) Alcohols:
C) Aldehydes

D) Ketones

98.

89.

Which of the following do not contain
carbon — oxygen double bonds ?

A) Ketone

B) Esters

C) Acids

D) Ethers

Chloroethane reacts with X to give
diethy! ether. The compound X is
A) NaOH

B) NaOEt

C) H,S0,

D) Na,S,0,

100.

How do you distiriguish chiorobenzene
from benzyl chloride ?

A) AgNQO, test
B) Schiff reagent test

C) By analysis of elemental
composition

D) By adding sodium bicarbonate -

97.

98.

99.

100,

LPag_ie‘ No.-'-ﬁgj

WIS g & TRgfeeEd
IS T BT B |

A) wEifRaRE s

B) Uesiere

C) tfcgerss

D) e

-

T ¥ 7 # FElv-anifReH 25 whe
EE A

A) Hierg

B) e

C) Uiy,
D) sud

FAREE 3R X i aifen § seuma
fRymEm e I ffm X #)

A) NaOH-
B) NaOFEt
C) H,S0,
D) Na,S,0,
A S FANEE ¥ AR B Y
TEaT & 7
A) AgNO, wlemr
B) e arfiemie wiem
C) Tgig=dta TaeH a1 faveivor =
D) Tifeam smsie Sea
3EE
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